Jolly Phonics Spellings 16th - 20th March

On the next page you will find our Jolly Phonics Spellings for this week. Just
like at school you can learn 5 on Monday, 5 on Tuesday, 4 on Wednesday and
4 on Thursday or whatever way suits best for you. First you can write out the
list of words in a copy/on a sheet and look up the meaning of any words you
are unsure of in your dictionary.

You can then practice the spellings bu:

1) Looking at and saying each word out loud.

2) Tracing the word in the air with your finger

3) Practicing writing the word

4) Checking if you have written the word correctly

You could also practice the spellings by putting each word in a sentence and by
putting the words in alphabetical order.

Then on Friday ask someone to call out the spellings while you try to write
them out on a sheet or in your spare copy. You can then bring this sheet or
copy back to school with you when we reopen.

Work It Out Week 23 16th - 20th March

You will also find our Work It Out Activities For Week 23 on page 3 and 4.
You can work on these across the week by writing out your answers to the
questions on a separate sheet or in a spare copy. You can also bring this
sheet/copy back to school with you when we return and we will go back
through it together.

Keep an eye out for messages on Study Ladder for any other activities/tasks
that will be added later in the week.
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civil
pupil
pencil
weevil
evil

peril

nostril
basil
April
fossil
gerbll

anvil

utensil
tendril
lentil
council
stencil
tranquil
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. What is the perimeter

Lt —| = 8
2. (7 +8 4+ | = 20
3.846 -] |= 5
hO+8 - = 12
5.(6+7 + | = 20
How much heavier is 2 kg than 700 g? L
How many sides on a pentagon'? ]
What number follows 1899?
09 + 1:3=
5 kg of potatoes cost €4:50. What is the cost

of 2kg?

I ecm
4cm

9cm

of this triangle? |

€120 was shared equally among 8 people.
How much did each get? ‘

How many eighths in 2 units?

Work it out.ﬁ

~

L@+ ) + 5 = 12
2.(0+ Iy - 6 = &
3.0+ 1) - 7 = 8
6.8+ ) - &4 = 7
507+ ) - 5 = 9

What date will it be a week before
October 6th?

What is the value of the 3 in 1232

8. Write 455c in euro and cent.

9. Write in figugs: two thousand four hundred

12.

. €20-00 - €l340
.

and six.

One_bgok cost €4-20. How much for 5 books?
}

A gardener planted 24 trees
around each side of a square
field. How many did he plant?

??? @ 1O 1 C | score

5. 5x25m =
I5. (42 = 6) +

|

(45 + 5) =

16. Which one of these letters is symmetrical?
la|8 b’W !c F

17. Jennifer has €12. Fiona has % as much.
How much have theg between them?
la|€16 [0 €18 [c]€20

18. What is the area of a rectangle 9 cm long
bg 5cm wnde’?
o 28cm? o 45cm? ¢ 36 cm?

19. 3 books cost €3:60. How much for 5 books?
o €720 b €6:00 ¢ €16:30

20. How much is 0-1 of €807?

a|€8 [b]|€10 [c|€I2
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13. (3 x €4:50) = €20 -

14. How many millilitres in 0-5 litre?

15. How much of 0-7 is €207 |

16. What is the perimeter
of this regular hexagon?
0/82cm b 48cm o 54cm

17. What is the area of a room 6 metres
long by 4 metres wide? ‘
a| 24 cm? b 20 cm? ,C 22 cm?

18. 15 of Frank’s money is 18c. What is half his
money? |a 9c b |90c |c|36¢c

19. What must»be added to 2:3 to make 3-567?
a|163 |b|126 || 103

20. Take 4 times 7 from 5 times 6.

al2 t;‘l; ‘crb

8 cm



T 1L(_ |+ 7 - 5 =5

Q o.( ]+ 4 - 6 = 7
3. -5 + 6 = Il

L 3 -9

E & -7 + 5 = l4

S 5( |+ 4 - 5 = 8

6. 4x1kgl50g = i

7. How much heavier is 5 kg 200 g than
2 kg 430 g?

8. HoW much for 10 kg of bananas
if 2 kg cost €1-50?

9. 3 of is 24.

10. 2 hrs 36 mins + 3 hrs 18 mins = |

Work it out.”

. How many millilitres in 2 | 300 ml?

o AMFPOD -

. Take 07 from 3-4.
. (42 - 6) + (24 + 8) = |

y

WE
I.2+4 = 3 + |
26+3 = 2 +|
3.8+5 = 6 +
L(7+6 = 5 +
5.9+3 = 7 + |
What is half of 300?
% of my money is €2-50. What is %0 of it?
. Is this shape  a pentagon
~_an octagon or  a hexagon? .

. Write 500 ml as a fraction of a litre. |

. A bus left at 6:06 and arrived 2 hours later.

At what time did it arrive? { -

. Write 3 km 250 m as a decimal.
.(9x7)-8 =

. Write 750 ml as a fraction of a litre.

4. 146 +

= 308
15. Write 51—‘5 in decimal form.

16. 2 + 02 + 002 =
a|24 |06 |c 222

17. 7 rulers cost €3-50. How much do 5 rulers

cost? o €250 b €200 c €2-80
I18. The perimeter of an equilateral triangle is

45 cm. What Vis the length of each side?
all2cm bj l4cm ¢ 15cm

19. Which shows 7 minutes past one?
a| 1:70 [b]1:07 [c]1:17

20. 3 of a number is 42. What is the number?
a|126 [b] 112 |c|122
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14. What time will it be 22 mins after 1:18?
|

15. How many equal sides on a rhombus?

16. 3 hrs 40 mins + 2 hrs 25 mins = | |
i‘ 5 hrs 15 mins T) 6 hrs 15 mins
¢ 6 hrs 05 mins
17. 275 +1[ 6 = 421 |a|2 [b]6 c|4
18. By how much is % of 15 greater than
$of122 ||l [b]2[c|3
19. €2-75is 3 of [ _|.
o €550 b €10-80 ¢ €11-00
20. By how much is the sum of 36 and 14
greater than their difference?
(a]38 [b]28 [c] 18
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